For shots 9 & 10, adding [0.137 0.089 0.138 0 0.020] to the shot arrival times for [Ross TMX DJStew
Podium Cruiser] produced convergence on the South Barn location:

Shot 10, crack_adj =
[0.137 0.089 0.138 0.000 0.020]
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However, the same adjustment, applied to shot 9, does not provide a clear solution:

Shot 9, crack_adj =
37 0.089 0.138 0.000 0.020]
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And here is the tweaked location of shots 9 and 10 overlaid on the map:

crack_adjustment =
0.137 0.089 0.138 0.000 0.020

. VWEICTE

* DJStew

To be clear, | cannot think of any logical justification for why this particular adjustment would be
appropriate. It was just a thought exercise. Having to add delays to all four of the sound recorders in the
vicinity of the AGR building would imply that they all recorded sonic cracks vs. rifle reports. Assuming
that shot 10 hit crooks, how could Ross have recorded a supersonic crack? If the bullet had stopped at
the crooks position, then the sonic cone would not have reached the Ross recorder. Could shot 10 have
passed through crooks and still been supersonic afterwards? That seems doubtful.



